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o T T FW @ [F §7 JoT-I7 7 FRT F9T 27 &l
Please make sure that the printed this' question paper are contains 27

questions.

o G977 4 qlle7 &1 @l IV [RT T @S T el §E Bl O FA-JIaH % JEI-gT
77 [g)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

 FYI LTI H FA [IGT & BT 7 TEcT, JoT F BHIH T @)
Before beginning to answer a question, its Serial Number must be written.

o FTCYRTH % diT F @Il g/ G 7 8IS

Don't leave blank page/pages in your answer-book.
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o FUTYTHE % FANFT FHZ o e T&T A T TEEAgArR & hd e fiar
Fav T e
Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.
o T ST T To HIT-IH I¢ ofaeT g
Candidates must write their Roll Number on the question paper.

° FUI F¥  FAT @7 @ [@ € GrRTd I A & T g T T8 &, g &
FYT 59 T F g ) qrar @E T8 RoAr A9
Before answering the question, ensure that you have been supplied the

correct and complete question paper, no claim in this regard, will be

entertained after examination.

qe () TH 79T ST &

All questions are compulsory.
(ii) TeGIT J97] % el [T ferdl

Write the correct option in objective type questions.
(iii) § G T 9T 7 SHiaRE [dEeT FT TTErT 8

Internal choice has been provided in long answer type questions.
(iv) F9% F97 & 5% IG% A7 T9N9 T &

Marks of each question are indicated against it.

que -
SECTION - A [ Marks : 20
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(s forr)
(Physics)
1. AP o9 e W e J@R & gffse sar s ? o
() drEdfaes G e
(b) dRdfd® T Ieel
(c) oAl qer diew
(d) STHREN T I

Eye lens forms which type of image on Retina ?
(a) Real and erect

(b) Real and inverted

(¢) Virtual and erect

(d) Virtual and inverted

2. @S SHST H T Sl aidl 8, TSl B+ 1

(@) UEaT |
(b) e
() YU |
(d) fegaT @
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Colour of clear sky is blue due to :

(a) Reflection
(b) Refraction
() Scattering

(d) Dispersion

3. W= 7 @ 3 fagq &1 & 77 asnan ? 1
2 r
(@) I°R (b) =
V2
(¢ VI ()

Which of the following term does not represent electrical power in

circuit ?
1'2
I°’R b) —
(a) (b) R
VQ
VI d —
() (d) R
4. T ¥ BT o B YRURS Od 78 & ? 1
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(a) itemedl ge (b) QX FHuit

(c) o fagq (d) a9 g

Which of the following is not a conventional source of energy ?

(@) Fossil fuels (b) Solar energy
(c) Hydropower (d) Thermal power
5. Foll & T BN & FT T B § 7 2

What are the characteristics of a good source of energy ?

6. ¥ %3 fagq Sex fgg od & 5 A REQ o) Aq1 2, 9 & A » a
RvaiaR 80 V BI 36 99 fagq Biet el g arr o, 99 favaia @ 160 V
% dT faar S 2 2

The potential difference between the terminals of an electric heater is

80 V, when it draws a current of 5 A from the source. What current will

the heater draw, if the potential difference is increased to 160 V ?

7. S 9 % P | oRiE 9 wEecly eHen Y o § 7 2

How the construction of large dams cause Economic and

Environmental problems ?
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8. T% [T @ & IWENT &HXd gL, Tk Iacl «iF & F1 T91 2F; & s W {69 &

gffels @ Rerfy, TREE STER q° JHid # I Hifo) 4

Using a ray diagram, explain the position, relative size and nature of

image of an object placed between the F1 and 2F; of a convex lens.

9. fagq WX & THilkd ARG Tifew 3HH Rrsiq qur wEfaR we Sk gy
Mex | fqwe 999 #1 F1 qed ® 7 6

Draw a labelled diagram-of an electric motor. Explain its principle and

working. What is the function of split ring in an electric motor ?

AYqT
OR

(2) aRroT &% AT fEE &t aftid i 2

Explain Right hand thumb rule.

(b) foEq YRMEME! FER WX & HROT GIH & H a0 i 4

Describe the magnetic field due to current through a circular loop.

gug - g
SECTION - B [Marks : 19
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RGICEREEIN)

(Chemistry)

10. WE-T W TF SRSEANG o S/ & F41 Bkl & 7 1

(a) ETERISH W T ST FANGE ST B

(b) TN G TG MR RIS awal 2l
(c) g AHfeam T & B
(d) STPRE T TG S ST B

What happens when dilute hydrochloric acid is-added to iron fillings ?
(a) Hydrogen gas and iron chloride are produced.

(b) Chlorine gas and iron hydroxide are produced.

(c) No reaction takes place.

(d) Iron salt and water are produced:

11. & 9@ & pH & 99 9 B I8 fa@a 1
(a) ¥ ST B
(b) Y9 &E B
(c) 3@ o= 8
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(d) I & R

A solution showed pH 9. This solution is :
(@) Strongly acidic

(b) Strongly alkaline

() Weakly acidic

(d) Weakly alkaline

12. TF WA & Joaeih @ 2, 8, 7 31 Feiarad § 4 fha dd & 919 gaa
TETEE T SR P (GRET] S e A & T 9) ;1

(a) N(7) (b) F(9)
() PA19) (d) Ar(18)

An atom has electronic configuration 2, 8, 7. To which of the following

elements would it be chemically similar ? (Atomic numbers are given in

parentheses).
(@) N7) (b) F(9)
(© A19) (d) Ar(18)

13. SIS ARfhar | oy g9 § ? 0% Sereiv i 2

What do you understand by endothermic reactions ? Give one example.
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14. 7 gied BT § 99 99 & 373 K W ™ B s ® ? 39 o0 vEEs
TR T 2

What happens when gypsum is heated to 373 K ? Give chemical

equation for it.

15. SR ° fFE oMU WX aw@l @ eIl R ? IEeer it 2

Which property did Dobereiner use to classify the elements ? Give

example.

16. (a) IO Afed Gtk AN @1 quie PHifoTg 2

Explain reactivity series with examples.

(b) rar g Giaq e angelt & geb fafag| 2

Write constituents of Bronze and Brass.

17. =1 ufskanetl &1 qoig HifTa : 2x3=6

Describe the following processes :
(i) TEHO
Esterification

(i) @TgIRTT

1905/ (Set : A) P.T.O.

Previous Pathshala




(10) 1905/ (Set
Saponification
(ili) BIZBISTIHIT
Hydrogenation
g
OR

Pl AR T AT BT @ Hi) 6

Explain in detail the Nomenclature of carbon compounds.

qls -

SECTION-C [ Marks : 21
(Ser- forsr)

(Life Science)

18. SPRIVTST & IR I Bl & 7 1
(2) PRI (b) M&e I
(c) T e (d) & & #g T

Sperms are produced by :

1905/ (Set : A)

Previous Pathshala

:A)



19.

20.

21.

(11)

(a) Seminal vesicle (b) Prostate gland

() Scrotum (d) None of these

STt H Hioreh el U U7 Bil & 7
(@) Si& (b) o=
() W (d) ¥ T

In Bryophyllum, the buds are produced on :

(@) Root (b) Stem

(c) Leaves (d) All of these

HIF-T1 S HIAIR Pl A &P

Which organism cause Kala-azar ?

MTET HIF-8 T &X W & & 7
(@) WM (b) faa

(0 i (d) =gd

The herbivores come at which trophic level ?
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22.

23.

24.

25.

26.

27.

(12) 1905/ (Set : A)

(@) First (b) Second
(¢) Third (d) Fourth
RIGERC I R IR el 1

Define ecosystem.

dfffe H@=RoT @ 8N awil g7 St & 9 ey 2

Name four sexually transmitted diseases.

TEEgAd F1 & 7 TF &IV ATl 2

What is geotropism ? Give an example.

IRt SRITITHT 1 AATHIhG foEl STEY| B

Draw a well labelled diagram of a neuron.

AR FRfAR fF TR Bkl & ? 4

How does the mechanism of hereditary work ?

qeql H St B U it 6
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Describe the excretion in plants.

AYqT

OR

frmait dreor & R gt @ e i 6

Describe various strategies of heterotrophic nutrition.
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